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(22FA1E1A A = " [z2EATETA <))

1] &4 x & = 1] /468 7 =

2 57 x3 = 2 S4 ¢ =

379 x2= 3485+ 8=

4| 20 X ¢ = 4| /36 + 2=

59/ X9 = 5 440 + & =

6 35 X7 = 6| 230 + & =

170 /3 %8 = 17 2/0+ 6=

8 48 %X 9 = 8| 728 + & =

9 4 X7 = 9| 37 + 3 =

10| 46 X & = 0] 5/3 +9 =

1] 238 X 2 | 4832+ & =

12 672 X 9 12 4,/8/ 7 =

13 54/ X 7 13] 3,039 « 9 =

14| 450 x 2 14 /874 2 =

15| /06 X 4 15| 2,374 7 =

16| /27 X 6 16 | /,040 ~ 4 =

17 894 X & 17| Q448 + & =

18 | 349 X 4 18| 478 + 3 =

19 908 x 3 19 7986 + & =

20| 763 X & 20| 4,455 + 9 =

21| 346 x 2/ 21| /,638 + 42 =

2| 8/ X 76 2| 4,300 + 75 =

23| 74 X 68 23| 323 + /9 =

2| 92 X 98 | 3,948 + &4 =

25| 20 X &7 25| 9,2/8 + 97 =

26| 47 X /4 26| 2,698 + &4 =

21| 49 X §4 21| /484 + 853 =

28| /4 X 90 28| 4284 + &4 =

29| 58 X 43 29| /,860 + 3/ =

30 | 25 X 32 30 | /440 + 20 =
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[(BASA1E2S =]
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No. 1 2 3 4 5 6 7 8 9 10
1 &S 70 &7 &7 ) 77 7L 7L /6 44
2 50 SL /L 56 /7 -75 S0 -/ 7Y &0
3 &/ 65 §$5 L3 $0 S/ 4§47y ) S& =79
i
No. 11 12 13 14 15 16 17 18 19 20
1 L5 LY L0 76 58 A &7 7/ 70 /5
2 Sé 57 4/ L0 /S L0 LY 69 /5 7L
3 §$0o &7 79 -57 40 -57 /0 42 63 =78
4 7 463 34 &/ 76 7/ 73 &0 &7 XA
5 7/ -/0 68 43 L7 -4 ) -35 42 -0
B
No. 21 22 23 24 25 26 27 28 29 30
1 &0 6L 7/ 78 /7 73 68 SY 50 Lé
2 44 -/7 73 SY L0 -/ 5 79 &7 6/ 59
3 LY -37 37 43 53 Lé 7/ -3L Y -4
4 7/ $0o 48 &7 77 7/ L0 -20 /4 &0
5 79 73 60 -76 &0 -59 /S &5 7L -/ &
6 %) A L6 70 S/ —40 34 43 L7 40
7 /S 75 40 -3 XA 37 &0 L/ S& -5
B
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1] 74 X & = 1] /36 +6& =

2| 76 X7 = 2 | 438 + &6 =

3| 36 X7 = 3| &84 +3 =

4 | 30 X 4 = 4 3/0 + 85 =

5| &/ X 8§ = 5| 70 +L =

6 | 47 X & = 6| 756 7 =

71| L5 X3 = 1300+ 8 =

8| 67 X L = 8 | /56 + 4 =

9 | && X & = 9 | 457 =7 =

10| /4 X7 = 10| 665 =7 =

| 746 X 3 " /,7/2 = 4 =
12| 304 X & 12| 72785 =& =

B /80 X7 B| 7,758 =7 =
14| 635 X 7 14| L4/ +3 =
15| 768 X 4 15| 5346 & =
16| 4£/3 X & 16| L34 + & =
17| 707 X7 17 /,802 ~ L =
18] §57 X L 18| /442 =7 =
19| L7/ X & 19| 3,540 ~ &6 =
20 | SL4 X 7 20| &757 =7 =
21| 43 X /& 21| 3,748 + 47 =
22| 728 X 74 22| 7650 + 35 =
23| X/ X ES 23| 7785 + XS5 =
24| 65 X 47 24| 4,692 + 67 =
25| 87 X S4 25| /, 564 + 72 =
26| 3L X &/ 26| 2,758 + 58 =
21| /& X L7 21| 7,675 + &/ =
28| 70 X 72 28| 8§68 + /4 =
29| S4 X 38 29 | 2,648 + 36 =
0| 76 X 50 30| OO + 70 =
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EHQ% [251EA1E1 A =] =
No. 1 2 3 4 5 6 7 8 9 10
1 S0 6/ 746 4y ) &L 50 49 6/ 7Y
2 % &S 78 -30 /0 37 L7 7L 49 -30
3 Sé /4 L/ ) L/ -73 S& -&3 &S 4/
i
No. 11 12 13 14 15 16 17 18 19 20
1 /O L7 /2 XA 45 &L 54 53 &7 7Y
2 68 48 &0 L7 L3 S0 47 &6 63 &0
3 7Y -60 % /5 /& 7/ L0 A 52 -7
4 L7 53 45 70 70 64 S7 L7 70 -/ 6
5 53 -/ 37 -3& 76 -75 &/ 70 4§/ 53
B
No. 21 22 23 24 25 26 27 28 29 30
1 %4 45 A 7L L3 /7 /S LY 73 &7
2 LS -/0 39 704 /0 A LY &0 40 54
3 §$0o L3 L& 69 78 -73 7/ -/3 %4 76
4 /7 &7 5/ -70 &7 5/ 68 7/ &4 -2/
5 A 78 40 -4 S¥ 60 L0 -44 L& S
6 75 S¥ 75 &/ &7 LS 44 468 60 -20
7 5/ -&67 73 -30 54 40 57 L0 /7 43
B
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1| Q4 x 7 = 1| 476 7 =
2| 79 X 9 = 2| 276 + & =
338 x3 = 3 /085 +3 =
4| 9/ X & = 4| &5 + 5 =
5| 46 X ¢ = 5| Q28 + 4 =
6 24 X 2= 6| 72+ 3 =
1780 % & = 17 /82 + 2=
8 | 57 X 4 = 8| 7// +9 =
9 4& X & = 9| S04 + & =
10 /3 X3 = 10 /60 & =
1] 579 X3 1| 4,032+ & =
12| 480 X & 12 3,084 « & =
13| 2867 x 9 13 /,230 + 2 =
14 79/ X 6 14 00 + & =
15| 204 X & 15| 3,086 = & =
16| §02 X 7 16 | 2,439 9 =
17 9/3 % 6 17| /,972 « 4 =
18] /38 X 2 18| 5,808 ~ & =
19 | 244 X 4 19| 85,8659 7 =
20| #4468 X 9 20| LE4Y + 3 =
21| 93 X 94 21| 2,028 + 78 =
2| /5 X 27 2| 5,520 + 49 =
23| 7/ X &/ 23| 4346 + 58 =
2| 42 X &3 2| 930 + 30 =
25| 59 X 49 25| /204 + /4 =
26| 37 X 72 26| §,924 + 92 =
21| 48 x 38 21| 3,828 + 47 =
28| 26 X &/ 28| 475 + 285 =
29| 40 % /& 29| /,908 + 34 =
30| £2 X 0 0| 5,/84 + &/ =
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No. 1 2 3 4 5 6 7 8 9 10
1 LY 7/ &7 40 L7 73 78 SY &0 53
2 57 L4 70 L& S0 59 ) 70 53 S/
3 /3 73 S¥ 6L 76 -60 453 3L &6 -/
i
No. 11 12 13 14 15 16 17 18 19 20
1 Sé 79 2é &7 40 54 LY & /7 5/
2 §$0o -/ & 7/ 453 73 L3 50 -0 §$5 73
3 v 63 73 -&0 78 48 6/ -/ Sé L7
4 4 SY 50 7L 54 70 78 XA &7 &0
5 57 -0 SY -/ & /L -/ Sy 37 L0 -44
B
No. 21 22 23 24 25 26 27 28 29 30
1 &S 70 L& XA 7/ &S 4 L/ 7L S0
2 §$9 SL &0 L0 4§40 50 £L -/0 50 &/
3 7L 54 5/ &6 YA} -94 40 &7 S& -70
4 50 76 A -97 2é ~L7 73 ) 6/ 58
5 &/ -2& /7 75 57 7L 5/ 43 &3 VA
6 /& -/0 73 -3/ &L 6/ /7 54 /6 Sé
7 50 L/ 6L 42 73 /a4 L& -90 50 =477
i
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1] 52 X & = 1| 4285 + & =
2 2/ X3 = 2| Sy + 9 =
3| 43 x 7 = 3|03 +7 =
4 Sy x9 = 4 3/2+ 6=
5 485 X 4 = 5328 + & =
6 95 X 2= 6 sS4 +3 =
798 x 8 = 1 /48 + 2 =
8 &7 X 4 = 8 | 2852 + 4 =
9 746X 2= 9| /9 + 3=
10 /0 X & = 10| 60 ~ 2 =
1| 480 x 9 1] 2,030 & =
12 59/ X & 12| 408 ~ 4 =
13 379 X 4 13 758 + 2 =
14 7/3 x4 14 2,/39 3 =
15| 935 x 7 15| /,920 « 4 =
16 | 248 X 4 16 | /,608 + & =
17| 406 x 2 17| /773 3 =
18| §24 X 7 18] /,099 =7 =
19 /857 x & 19| 7,4/6 + 9 =
20| 402 X 3 20| 7,480 + & =
21| 82 X /4 21| 8,607 + &9 =
2| 48 X 28 22| 497 + /7 =
23| 24 X &/ 28| 4757 + 67 =
2| 20 X 47 2| 4,680 + 90 =
25| /3 X 49 25| /958 + 23 =
26| 35 x 78 26| 2,350 + 45 =
21| 57 x 30 21| 986 + 34 =
28| 79 X 34 28| 7,488 + 78 =
29| 44 x &8 29| /,680 + 854 =
30| 9/ X 92 30| 2/6+ /2 =
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No. 1 2 3 4 5 6 7 8 9 10
1 &0 &7 68 7L &S 4y 45 7/ S0 77
2 7/ /L LY -5& /4 70 L3 L0 &/ &0
3 44 -54 44 70 L7 58 70 -/3 70 -/9
i
No. 11 12 13 14 15 16 17 18 19 20
1 58 A 70 L/ 53 LY 70 L3 /0 56
2 7/ 70 58 7Y L0 Sé 5L &6 &7 -4
3 3L L4 S/ -3& &/ 70 78 /a4 S¥ 70
4 7Y -5/ XA 50 &7 -/7 44 -/ 4 L5 /L
5 &0 73 7L -26 49 58 S/ 70 76 =78
B
No. 21 22 23 24 25 26 27 28 29 30
1 70 /7 % S XA 453 A S/ &5 &7
2 §g/ A S0 &5 L0 -/0 $0 &0 4§/ -/ L
3 653 4§40 4y 78 53 S L& 53 L7 S¥
4 &5 6L Sé -S54 &0 -2/ 39 -/ A 78
5 L7 -3y &/ -20 75 &7 73 -97 5L -54
6 S0 75 L5 &7 77 70 5/ 42 76 -67
7 /& -73 70 -76 S/ -76 4 &4 S0 70
B
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1] &2 x7 = 1] 85885 +9 =

2| 79 X 3 = 2| /52 + 2 =

3|9/ xQ= 3|72+ & =

4| 48 X & = 41 /29 3 =

5| /3 X 4= 5| 784+ & =

6 35 X 2= 6 | Q24 + 7 =

1|4 %9 = 1| 4385+ & =

8| 857 X &= 8 | &4 + ¢4 =

9 44 x & = 9| 430 + 7 =

10 20 X Q2 = 10| 270 + & =

1| 976 x & = N | 4224 + & =

12 643 x 3 = 12 4,076 & =

13 /98 X 4 = 13| 2,240 +~ 9 =

14 552 X & = 14| 4,656 ~ & =

15 3/0 X 7 = 15| 942 + 2 =

16 | 42/ X 2 = 16| /,036 ~ 4 =

17 209 X & = 17| 92/ + 3 =

18] 07 x 9 = 18| 294 + 2 =

19| 7854 x 2 = 19| 485/ 7 =

20| §465 x & = 20| &334 + 9 =

21| 67 X &7 = 21| 3,264 + &4 =

2| 56 X9/ = 2| 920/ + 53 =

23| 98 % /3 = 23| /,080 + 24 =

| /0 X &4 = | 4,0/4 + 97 =

25| Q4 X #4 = 25| 7,600 + &0 =

26| §9 X 48 = 26| 5,/40 +~ &6 =

21| 23 X 20 = 21| 85,478 + 75 =

28| /2 X 35 = 28| /596 + /9 =

29| 78 X 24 = 29| /, 209 + 3/ =

30| 485 X 79 = 0| /,/76 + 42 =
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[(BASA1E2S =]

EHQ% [251EA1E1 A =] =
No. 1 2 3 4 5 6 7 8 9 10
1 49 ) 453 48 /L /s L0 /& 50 59
2 /& 70 74 -/ & 56 7/ 42 70 49 7/
3 50 -36 ) 37 L3 LY XA -5 50 -37
i
No. 11 12 13 14 15 16 17 18 19 20
1 ) 68 49 L7 48 S¥ 63 76 59 70
2 §$0o -/ 76 73 6/ -/ 7 7/ 58 70 -3
3 N 52 /S -5/ 7L L5 /39) -/ L 4/ &6
4 4 —40 L& A 57 &0 75 S0 L3 7Y
5 7/ 37 50 -60 S0 469 &0 —477 68 -/ 5
B
No. 21 22 23 24 25 26 27 28 29 30
1 42 76 70 7/ 70 49 68 77 5/ &4
2 77 -4/ 5L 73 78 S& /S -453 60 -453
3 L0 -7 L7 -60 54 -6/ 79 42 %4 S/
4 &6 52 63 -/ 4 &7 50 44 &0 /7 727
5 53 S0 &8 -37 /L -/ 6 L0 &4 73 75
6 XA 7Y S0 &L &7 &S 34 -3/ A -&0
7 /7 -&4 7Y 26 L3 -50 &0 &4 40 64
B
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(221EA1E1 A A = " [2BEATEIE <))
1] 43 X3 = 1] 386~ ¢4 =
2 852 % & = 2 4 2=
3 74 x & = 3 /385 +3 =
4] 85 x 3 = 4| Q24 + 4 =
5129 X9 = 5| 4469 + 7 =
6 /& XS = 6 70 + & =
14/ x3 = 180 +6& =
8 36 X 2= 8| //5+ &=
9 94 X 4 = 9| 2046+ 9 =
10| 70 x 7 = 10| 294 + 3 =
1] /685 X2 | /482 + 2 =
12 504 X 3 12] 6,8/6 + & =
13 2687 x & 13 /,/ 84~ 4 =
14 943 x 2 14] 6,036 9 =
15 276 X 9 15| 4,4/0 7 =
16| 509 x 7 16| /,672 « 4 =
17 498 X 4 17 555 3 =
18] /0 X & 18| /,842 + & =
19 £32 X 6 19| 2,645 & =
20| 72/ X & 20| 3,852 + 4 =
21 38 X 93 21| 2,382 + 38
2| 4/ X 48 2| 859/7 + &/
23| 94 X §¢ 23| /728 + 27
2| 49 % /0 | /.58 + &/
25| &3 X 34 25| 4,225 + &3
26| 72 X &9 26| /,000 + 50
27| 52 X 23 21| 597 + 49
28| 27 X /2 28| 204 + /4 =
29| /46X 78 29| 8,084 + 94
30| 50 X 47 30 | 2,024 + 72
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No. 1 2 3 4 5 6 7 8 9 10
1 48 78 60 S0 &7 &/ 76 /6 &0 /39)
2 59 -2/ 75 7L L/ 50 S0 Y /7 75
3 /& &7 /5 -5& /0 -3& L7 -3& 75 -/
i
No. 11 12 13 14 15 16 17 18 19 20
1 A 40 L/ 7/ /7 75 42 S¥ 40 73
2 70 63 70 57 44 60 50 &8 &L -6
3 /3 -&5L 78 40 78 7L &7 ~L7 73 45
4 57 75 45 -4 L3 =&/ 63 60 /6 7/
5 L6 -2/ 63 L& 50 43 /7 -/ 57 -&0
B
No. 21 22 23 24 25 26 27 28 29 30
1 44 78 50 76 7L 68 59 53 /L 75
2 57 &5 /4 -2/ S0 &0 /5 -0 §$5 77
3 LY -2/ 7Y 43 &/ ) 37 /39) 56 -0
4 35 453 47 -/0 4y =79 40 -3/ 78 -&4
5 77 -/0 6/ S /Y 7/ 7/ &0 &7 /7
6 &0 -76 S& ) % LY Lé 75 /0 &0
7 68 S L7 70 58 -57 73 -&4 L3 42
i
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1] 7/ x7 = 1| 876 +9 =
2 468 x 2= 2 85/0 + & =
3 40 x 3 = 3 488 + & =
437 x9 = 4| 225 + 3 =
548 x & = 5 /86 + & =
6 /& X 4= 6 27/ +7 =
782 %9 = 1 /00+ 8=
8 59 x &= 8 38+ =
9| 26 X & = 9| 52+ 4 =
10| 23 X3 = 10 388 ~ 4 =
| &74 % & 1| 206/ 3 =
12 652 X 4 12 /407 =7 =
13| 54/ X & 13| /,4/6 + 4 =
14 2/8 % & 14| 4,884 « & =
15| /07 X 2 15 7,/82 + 9 =
16 | 329 X 3 16| /,0856 & =
17| 985 x 7 17 3,486 « & =
18| 430 x 2 18| 4,/85 9 =
19 904 x & 19 /,820 +~ 2 =
20| 763 X 9 20| /,2/85+ & =
21| 462 X 34 2| 4,420 + 52
2|5/ %X &/ 2| /350 + /&
23| 73 % /4 3| §4/ + 29 =
2| 46 X 47 2| 2,220 + 74
25| /7 X 28 25| 738 + 4/ =
26| 40 X 73 26| 4,420 + &%
21| 96 X §& 21| 7,/04 + 96
28| 28 X 30 28| 3,949 + 43
29| 39 X 49 29| 2,075 + 7%
30| §4 X 92 30| 2,880 + 30
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No. 1 2 3 4 5 6 7 8 9 10
1 7/ 7/ &0 S& &S 50 78 76 Lé 57
2 &0 -37 79 L7 7Y 6/ 70 7Y 40 &0
3 LY /5 LY 49 S& S/ &7 -4/ YA} LY
i
No. 11 12 13 14 15 16 17 18 19 20
1 39 453 /5 4 70 53 7Y &S S/ 7/
2 SY -/0 49 58 73 XA 69 63 7Y -5&
3 77 79 L7 /& 5L -97 53 -7/ L0 70
4 &0 65 &0 70 X -/& L0 LY &7 L3
5 /3 &L 63 -44 &/ L0 /& 70 ) &4
B
No. 21 22 23 24 25 26 27 28 29 30
1 &6 L7 &7 49 L0 49 /0 7/ 50 37
2 L0 50 L/ S& 77 50 78 L4 49 73
3 S/ 6/ 78 7L &0 &S /L 648 &S -/ 5
4 XA -3& SY L7 75 -7 &7 &L S& 40
5 77 /a4 S 50 &4 -/ 6 56 -60 50 &L
6 /7 -50 453 -94 53 -94 45 -37 7Y 7/
7 75 7Y 76 -/ 6 S/ L7 &7 40 6/ -592
i
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(22FA1E1A A = " [z2EATETA A
1] 3/ x7 = 1] /90 +2 =
21 /9 X3 = 2| 252+ 9 =
3|83 %X &= 3| 328 + & =
4| &6 x7 = 4| 280 7 =
5| Q9 X 4= 5| 252+ 3 =
6|97 X &= 6 | Q34 + & =
17180 %x9 = 1| Q48 + 4 =
8| 75 X 2= 8|85/ + 3=
9 | 42 X & = 9 | 306 + & =
10| 64 X 4 = 10| 584 + & =
"] 8527 X 7 = 1| 2608 ~ 4 =
12| 702 x & = 12 /,082 2 =
13| 749 x & = 13] 2,632 + & =
14] 438 X 9 = 14 749 + 7 =
15| 294 X & = 15 /,970 ~ 2 =
16 /83 X & = 16| 2,680 ~ & =
17 8§50 x 3 = 17] 6,867 = 9 =
18] 94/ X 4 = 18| 4,370 «~ & =
19 308 x & = 19| 854 + 3 =
20| 4/6 X 2 = 20| &/854 + 9 =
21| 24 X 43 = 20| /445 + &5 =
2| 47 X 59 = 2| /769 + 29 =
B| /4 X EL= 23| 4,348 + 52 =
2| 7/ X 40 = 2| 3744 + 96 =
25| 28 X 93 = 25| 2,520 + 463 =
26| 92 X 7/ = 26| 2,993 + 4/ =
21| 49 X /& = 21| Q774 + 74 =
28| 20 X 48 = 28| /,7/0+ /8 =
29| &/ X 26 = 29 | Q044 + 73 =
30| & X 37 = 30| /,8460 + 30 =
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No. 1 2 3 4 5 6 7 8 9 10
1 &7 63 49 /& 73 70 70 78 50 37
2 Y3 —4/ 50 76 %4 4y 76 S L7 73
3 &5 7Y &S -&5 A -9% S0 -&7 Y -60
i
No. 11 12 13 14 15 16 17 18 19 20
1 79 LY SY ) 7/ S& 54 76 /6 4/
2 /4 -/ & L7 -/7 &8 L7 704 —40 L3 &5
3 68 S7 7/ 68 70 /0 &0 /7 $0 -70
4 N 76 S0 7Y 44 ) 7/ &S 727 7L
5 50 -&0 &6 -30 S -4y L3 -5 58 -4
B
No. 21 22 23 24 25 26 27 28 29 30
1 40 &0 SY 60 &7 40 76 &0 /0 §$5
2 %4 75 70 73 70 73 A 68 78 /&
3 73 XA SL -7/ /L -/ 5 /& =79 76 78
4 75 -97 76 /5 L3 37 L7 57 L/ &7
5 5/ L0 &7 -37 S¥ -4 70 L0 ) -&7
6 6L /) L/ L6 §$5 &0 63 7/ SY /0
7 Y -453 /0 $0 /0 &L &5 -44 &7 -4
B
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x (bATA1E2R =] —_— {&A$A1E2,¢“ =]
(221EA1E1 A A = " [2BEATEIE <))

1] 29 x9 = 1| 200 + 4 =

2 /8 X3 = 2 37/ 7 =

3|34 %x &= 3| /92+3 =

4 52 x 2= 4| 388 ~ 4 =

5|43 X9 = 5| 42 + 2 =

6| 96 X & = 6 | 430 ~ & =

1|4/ x 6= 118/6+ 6=

8| &5 x 9 = 8| 378+ 9 =

9 T4 X7 = 9| /52 + & =

10| 70 x 4 = 10| 40 + 3 =

] 597 X & = | 7546 + & =

12 95/ X & = 12| 4,256 ~ & =

13 §20 X & = 13| 948 + 4 =

14| 402 X 4 = 14| 27854 + & =

15 7/9 X7 = 15 8/36 +9 =

16 /53 X 2 = 16| 2,0/3 +3 =

17| 264 X 3 = 17| 6946 + 2 =

18] 2785 x & = 18] £,037 = 9 =

19 408 X 2 = 19| 528 + & =

20| 4846 X 9 = 20| 3,920 + 7 =

2| s4x /3 = 21| /,625 + 65 =

2| &7 X 46 = 22| 5,700 + 76 =

28| 2/ X &7 = 23| 3,/ 32 + &4 =

| /2 X 48 = 2| /504 + 32 =

25| 43 X 23 = 5| /,2/8 + &7 =

26| 98 X 79 = 26| 3,528 + 98 =

21| 90 X 3% = 21| /458 + /& =

28| 746 X &0 = 28| &, 280 + 90 =

29| 485 x 9/ = 29| /, 290 + 43 =

30 | 92 X Q4 = 30 | /449 + 2/ =
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No. 1 2 3 4 5 6 7 8 9 10
1 3 5/ 60 57 S0 L7 50 b2 79 27
2 20 -40 73 - Y /Y &S VA 5/ 794 L0
3 g4s3 75 &L 79 25 -7 §$ -73 7/ -75
5t
No. 11 12 13 14 15 16 17 18 19 20
1 27 §$4 S/ 78 26 73 2/ 40 20 3
2 Q4 70 &é L/ Y $4s8 60 -/4 $4é 48
3 52 -2/ 50 -44 /7 -2 §$9 35 &9 -0
4 &é &S 7Y 70 58 -/ & 53 78 7/ 27
5 /0 -44 L7 -53 S0 70 78 -7 53 -/3
st
No. 21 22 23 24 25 26 27 28 29 30
1 60 50 74 /Y 7/ L7 7/ 75 70 27
2 25 -/4 S &/ 37 Y 48 5/ 65 75
3 5/ Y 78 $y 48 >3& 60 A 2/ 759)
4 73 7 2/ -5& &L -/ 4 59 -73 3L -50
5 39 -4 3L -49 /& -4/ 26 -8 43 -64
6 42 -4/ 20 S0 59 50 73 -40 78 -/
7 40 &S 453 ) q40 —49 /& > 74 53
5t




HlIEHY s—Fo&

"8 Abacus Circuit FZ
x (BATAT1E2HR " [hATATEZ2R

(221EA1E1 R " [ZAEATETR
1|7/ X &= 1| /08 ~ 4 =
2 | 26 X 4 = 2| 64+ 7 =
3| 47 X & = 3| /70 + & =
4| 59 X 2 = 4| /RE + & =
5137 X3 = 5 | XEL + 3 =
6| /5 X7 = 6| 78 + L=
1|60 X7 = 11200+ &=
8 | 4& X & = 8 | 747 =9 =
9 | P23 X 4 = 9 | 47 =7 =
10| &2 X 6 = 10| 360 + & =
M| 707 X £ M| ZLES + 3 =
12 4/3 X 7 12 | 4,360 +~ & =
13 302 X 6 13 630 +~ 6 =
14| /&80 X 4 14| 2,600 ~ 4 =
15| 857 X 9 15| /,8508 + L =
16| 635 X & 16 | 743 + 7 =
17| 268 X 3 17 /.78 ~ 4 =
18| SL4 X 7 8| /,5/L+7 =
19 746 X 7 19| 4947 =7 =
20| XY/ X & 20| 7,564 = & =
21| 76 X 423 21| 2,583 = 4/
22| &7 X &0 22| 6,490 = &5
23| 45 X 37 23| /,3/ L+ 3L
24| 54 X 26 24| /,508 = X7
26| X/ X 923 25| 2,520 + 70
26| 78 X &L 26| &,/460 = 96
21| /0 X /& 21| 7,/04 = 74
28| 76 X 59 28| SX4 + /8 =
29 | 43 X 4& 29| 3,640 + 5
30| L X 7/ 30| /,85L7 + &3




b+ I—3%2-¢ X = =] &T
Varayl . .
5108 Abacus circuit F2
& & &
SN, 16 0HMUETLRILTY T (T07)
9 0 LT T#EIT (M3) (T-T)
A H K%

[(BASA15E2H =]
EHQ% (2AIEA 181 A =) =
No. 1 2 3 4 5 6 7 8 9 10
1 75 &S 69 &0 70 /0 LY 7R 7R S/
2 28 -/ 4 58 -53 23 S $yé &S §$49 &0
3 40 72 >4 b4 /0 43 &0 -4/ /& -75
5t
No. 11 12 13 14 15 16 17 18 19 20
1 S/ /6 L0 20 /7 /& &7 L0 L7 38
2 7Y 70 78 /& 53 79 3L -/4 60 75
3 28 S Q4 42 &L -3 65 VA /353 LY
4 20 -37 /& -3& $4é S /7 -73 75 -/4
5 45 -8 67 57 70 -50 q40 &5 A -20
st
No. 21 22 23 24 25 26 27 28 29 30
1 37 &9 7Y 7/ 50 §$9 > §$9 &0 Y
2 §ys /0 YY) A Y -/ 6 /7 72 75 27
3 40 56 >0 68 L7 A L8 -3& S/ -50
4 24 45 63 79 72 38 40 A Y 42
5 40 -3 /& $4é &S 72 73 /& 53 /7
6 7/ -3 &5 -0 S8 -50 b2 VA L0 -3/
7 73 70 70 -/3 /& &S 5/ -50 &é 53
5t




F11[H

)( [BASA1E2H
[(#51EA1E1H

HIEMT c—Fo&

Abacus Circuit F

[BASA15E2H
[(#5IEA1E1H

1 4/ x 3= 1| 04+ 2=
2 463 x 4 = 2| /Y Y =
329 X 4= 3 446+ 9 =
4] 79 x & = 4| /08 + 6 =
5| /& X 4 = 5 //6+ 4 =
6 94 %9 = 6| 44/~ 7 =
785 x 2= 10 2/0+3 =
8 74 x &= 8| /o4~ 4 =
9 30 x 4= 9| 748+ & =
0] 52 x 7 = 10| 425 + & =
1| 2/8 x 4 1| 972+ 9 =
12 874 x 7 12| 4,044 + 6 =
13 763 x & 13| /,570 + 2 =
14| 430 x & 14| 4,480 ~ & =
15| 985 x 2 15| 3,6/6 & =
16| 27 X 3 16| 720 ~ 4 =
17 6852 x 9 17| 272/ + 3 =
18| $4/ x 2 18| 4,504 +~ & =
19| 2046 X & 19| 5/6 ~ 4 =
20| /07 X & 20| 2,387 + 7 =
21| £6 x 97 21| 2,688 + 32
2| 75 x 53 2| /805 + /9
23| £2 X 26 28| 2,535 + 45
2| 3/ % 3/ 2| 357 + 2/ =
25| 53 % &6 25| 3,780 + 90
2| /9 x 7% 26| /,204 + 43
21| 20 % /9 21| 5,220 + &7
28| 97 X 42 28| 2,784 + 54
29| ¢4 x &0 29| 5,548 + 76
30 | 42 x 44 30| 4,076 + 98




e NEEA N

I—%-¢

E11[El aAbacus Circuit F2

=1
=

=1
=

=1
R

B,

160RBULETLRILTY S

("o")

9 0ORUTTEIT (M3) (T-T)
H H K%
[(BASA1E2S =]

EHQ% [251EA1E1 A =] =
No. 1 2 3 4 5 6 7 8 9 10
1 Y % &5 &S 7L 7/ 7L 70 L7 78
2 50 Sé 52 /4 /6 L4 49 -67 5L 45
3 S& -70 63 -7 S& 57 /4 /2 7Y /L
i
No. 11 12 13 14 15 16 17 18 19 20
1 S0 /5 53 S/ L5 7/ &7 26 &0 L/
2 ) 48 &/ 57 S0 7% 60 47 49 &7
3 &7 L3 &7 &6 /Y 50 7/ -50 S -34
4 &7 70 70 -70 4 63 S¥ 37 75 -60
5 /Y -469 42 LY &4 -4 ) -/& &/ 7Y
B
No. 21 22 23 24 25 26 27 28 29 30
1 L7 70 70 &7 34 S 4§/ 50 LY &5
2 76 54 &7 -76 68 76 A &S &0 78
3 70 78 SL /0 /S ) S0 -/ 6 44 54
4 52 45 85 78 LY 54 5L L7 57 76
5 63 S¥ SY 3L 7/ -2/ &8 —49 S5 -/0
6 7Y -&9 78 43 57 43 /& 7Y 7/ -3
7 /& -/ L 76 ) 44 78 70 -6/ 79 L/
B




"8 Abacus Circuit FZ2

x (bATA1E2R =] —_— {&A$A1E2,¢“ =]
(221EA1E1 A A = " [2BEATEIE <))
1] 23 x3 = 1] /90 +2 =
2 45X 9 = 2| //9 7 =
3| 34 x 7 = 3| 306 + & =
4| 78 % 4 = 4| 420 ~ & =
5| /2% 9 = 5 /985 +3 =
6 /4 XE = 6 73+ 7 =
1|86 %x 4= 1| /60 + 4 =
8 | 90 X 4 = 8| 252+ 9 =
9 9 X 2= 9| &// =7 =
10| &7 x & = 10| 4946 + & =
1] 954 X & = | £&388 +9 =
12| 40/ x & = 12| 4,708 + & =
13| 289 X 4 = 13| 924 + & =
14 607 X 3 = 14| 2,384 ~ 9 =
15 5/2 X & = 15| 2436 « 4 =
16| /78 X 2 = 16| 2,/20 ~ & =
17 §48 x 9 = 17| 282/ + 7 =
18] 423 X & = 18] 5,382 ~ 9 =
19| 734 x 7 = 19| /420 +~ 2 =
20| 390 X 4 = 20| /48 + 3 =
2| 5/ X9/ = 2| 4544 + 4 =
2| 94 x &/ = 2| 4,956 + &4 =
28| &/ X 79 = 28| 2,627 + 39 =
24| 50 X &7 = 2| /480 + 40 =
25| 49 X 24 = 25| 930 + 62 =
26| 38 X 48 = 26| 4,/82 + &/ =
21| 3 X 38 = 21| 3,388 + 73 =
28| 72 X 446 = 28| 470 + 95 =
29| 27 X /3 = 29| /344 + 28 =
30| /4 X 20 = 30| /,020 + /7 =




e NEEA N

I—%-¢

212[E] Abacus Circuit F2

=1
=

=1
=

=1
R

B,

160RBULETLRILTY S

("o")

9 0ORUTTEIT (M3) (T-T)
H H K%
[(BASA1E2S =]

EHQ% [251EA1E1 A =] =
No. 1 2 3 4 5 6 7 8 9 10
1 58 7L 746 77 73 L& 75 7/ /0 $0
2 4y -4 L/ L0 %4 40 &6 -57 ) 73
3 S0 &/ 453 &4 L& -3y 53 /S 78 -5/
i
No. 11 12 13 14 15 16 17 18 19 20
1 69 L3 78 &6 L7 48 /0 &L %4 &L
2 /& 57 6L -3y 4/ 79 68 /0 56 -75
3 L0 % 75 /L 53 VA) 52 -37 L0 44
4 75 -/0 4§/ 45 &7 -6/ 4y 76 48 -/3
5 S¥ A S0 70 60 S0 73 45 7/ 70
B
No. 21 22 23 24 25 26 27 28 29 30
1 &6 453 5/ 7Y /& 60 7Y 70 7/ %4
2 S/ -2/ &0 &/ 52 §$s /& -/ L LY 75
3 /7 SY 75 &S S0 7/ L7 L3 57 /7
4 53 70 40 49 7Y Lé S0 &7 34 -60
5 &0 3L 4 -7 4/ -73 63 S¥ 44 5/
6 77 65 £L -50 70 -/ & 52 45 &0 —40
7 Y2 &7 73 L7 63 -37 &S -&7 /S -73
B




"8 Abacus Circuit FZ2

x (bATA1E2R =] —_— {&A$A1E2,¢“ =]
(221EA1E1 A A = " [2BEATEIE <))
1| /4 x 2= 1| 44/ + 9 =
2| 49 X & = 2| 946+ 4 =
3| 34 x 4= 3| 249 + 3 =
4 25 x9 = 4| 304+ & =
5385 x 2= 5| 288 + 4 =
6 58 X3 = 6| 658 + 7 =
1|70 % ¢ = 1| /386 + 8=
8| &/ X 2= 8 | S49 + 9 =
9 92X 7 = 9| /02 + 2 =
10| 47 x & = 10| 2850 + & =
| /49 X & = "| 27/6 + 4 =
12 34/ X 9 = 12| /5460 + 2 =
13] 494 X 3 = 13 /,//6+9 =
14| 472 % & = 14| /384 ~ 4 =
15| 927 X 4 = 15| 4,458 + & =
16 | 250 X & = 16| 2,656 ~ & =
17 8/6 % & = 17| 2,408 +~ & =
18] 83 X 2 = 18| /648 7 =
19 708 x 7 = 19| 7,2/6 + & =
20| 208 x 3 = 20| 309 ~ 3 =
2| 44 x 9/ = 2| 90/ = /7 =
2| 42 X &5 = 2| 3,/00 + 62 =
23| /9 X 44 = 23| 7,896 + &4 =
2| 97 X &7 = 2\ 3,/// + &/ =
25| 89 X 24 = 25| 9852 + 4/ =
26| 8§46 x /3 = 26| 4,059 + 73 =
21| 53 X 38 = 21| 280 + 460 =
28| 20 X 79 = 28| /,520 + 95 =
29| 3/ X 20 = 29| /,0853 + 39 =
30| 75 X 468 = 30| /372 + 28 =




e N EEA N
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213[E] Abacus Circuit F2

=1
=

=1
=

=1
R

BiA., 16 0RHUETLRLT YT

("o")

9 0ORUTTEIT (M3) (T-T)
H H K%
[(BASA1E2S =]

EHQ% [251EA1E1 A =] =
No. 1 2 3 4 5 6 7 8 9 10
1 &4 7Y L0 6/ 7Y 79 49 7L 53 S
2 L0 50 S5 §Y7 /6 -35 50 S& &0 78
3 77 -/ 6 79 -7 7L LY &S -94 77 -&7
i
No. 11 12 13 14 15 16 17 18 19 20
1 57 &6 75 73 7L 49 45 Lé 59 7Y
2 &0 -37 A L0 A /0 78 7/ L0 %
3 7Y 7/ 60 75 70 -453 /6 40 S¥ -&0
4 /& 45 L3 —4/ S5 &é L0 -37 &/ -5/
5 3L -0 /7 468 /6 -7 %4 58 76 L3
B
No. 21 22 23 24 25 26 27 28 29 30
1 &5 70 &S 40 73 S¥ &7 SL 50 /5
2 63 % 50 73 L& 45 ) 70 7L 59
3 §g/ -9 &/ -5/ £L -/0 SY -S54 L7 60
4 S0 -4 47 %4 5/ 78 78 /0 6/ -4
5 7Y 58 7L -/7 %4 &7 L/ ) S& 7/
6 /& VA L7 39 A -54 70 -76 &S &L
7 52 &/ 50 L& 75 -20 453 -2/ 49 L4
i




HlIEHY s—Fo&

"8 Abacus Circuit FZ
x (BATAT1E2HR " [hATATEZ2R

(221EA1E1 R " [ZAEATETR
1] 68 X & = 1| 7684 =& =
2 | 5 X 4= 2 | L&/ =3 =
3| 7/ X7 = 3| /b + & =
4| 79 X 4 = 4| &5+ 5 =
51 /3 X 4= 5| /74 + 4 =
6 | 57 X & = 6| 3L + 7 =
1186 X3 = 11 /74 +6& =
8 | 446 X L = 8 | 46846 + 7 =
9 | XO X 4 = 91 /680 + L =
10 X4 X7 = 10| 3720 = 6 =
M| 748 X L | 2086 7 =
12 584 X 7 12 | 4,236 +~ & =
B &/7 X3 13| 5,056 & =
14| 307 X & 14| 2/63 +7 =
15| 706 X 4 15| /, 640 ~ 4 =
16| 675 X & 16 | 4,687 ~ 7 =
17 362 X 9 17 56/ +3 =
18| /40 X 4 18| 2,774 ~ 4 =
19| 473 X & 19 /,708 + L =
20| XS5/ X2 20| £4,65L5 = &5 =
21| X& X &/ 21| &76 + /L =
22| 37 X 40 22 | LLE0 + 76
23| 5/ X &4 23| L7097 + 43
24| 4L X 73 24| 772 + 54 =
25| 753 X 62 25| 7,254 = 78
26| 4 X 5/ 26| /,6464 = 3L
21| /7 X 25 21| 8,352 = &7
28| 63 X X& 28| 2,6/0 = 20
29| 25 X /7 29| &6/ = X/ =
0| 40 X 37 0| 5,545 = 65




e NEEA N
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2 14[g] Abacus Circuit F2

=1
=

=1
=

=1
R

BEH,

160RBULETLRILTY S

("o")

9 0ORUTTEIT (M3) (T-T)
H H K%
[(BASA1E2S =]

EHQ% [251EA1E1 A =] =
No. 1 2 3 4 5 6 7 8 9 10
1 39 727 S0 L& 48 7Y 7/ 73 &4 &7
2 ST -453 4/ %4 &L -50 57 48 /39) -/0
3 5/ /39) 70 -60 73 S& &0 7/ /7 S
i
No. 11 12 13 14 15 16 17 18 19 20
1 57 70 /7 7Y LY 7Y 78 &7 Sé 7/
2 74 65 S& 5/ S5 -/ & ) YA} &7 XA
3 S0 L& 42 469 6/ 76 S¥ /a4 70 =78
4 48 73 50 &0 70 S& /0 &3 /5 L0
5 v —4/ 76 L3 &7 -0 L7 -0 /39) -53
B
No. 21 22 23 24 25 26 27 28 29 30
1 L0 &6 %4 70 /0 &7 4/ /7 S/ 75
2 7/ L0 &0 &7 45 45 76 XA &4 42
3 77 42 A 65 &7 /L /& &6 L0 -97
4 35 75 73 453 S¥ 78 S0 -453 XA &0
5 &0 -5/ 6L 54 78 -&7 L7 -0 &0 53
6 57 77 75 -/0 /L 70 63 77 42 -3/
7 68 -/ 40 78 L3 -4 &S -5/ 53 -0
B




HIEMT s—&oL
"8 Abacus Circuit F2
x (bATA1E2R =] —_— {&A$A1E2,¢“ =]
(22FA1E1A A = " [z2EATETA A
1] 385 x7 = 1| /4y =3 =
2 468 x & = 2 /20 + & =
3 446 x5 = 3 3885+ 8 =
4 24 x 3= 4| 288 + 4 =
579 %9 = 5| 2946+ & =
6 /3 X 2= 6 | Q40 + 4 =
72/ x& = 1 /64 + 2=
8 S0 X 4 = 8| 279 + 3 =
9 9/ X & = 9| /8L + 7 =
10 57 X & = 0] 53/ + 9 =
1] 382 X & 1| 6,706 7 =
12| 504 X 4 12| 2,208 + 3 =
13| 27/ X 6 13 /,530 9 =
14 /40 X 9 14 /,/ 24+ 4 =
15| 948 X 2 15| 2,082 « & =
16 | 493 X 3 16 | 7,625 = 9 =
17 6/85 %9 17| 2,0/%6 + & =
18] 509 X 2 18] 3,780 « & =
19 £§37 x & 19 4,//2+ & =
20| 726 X 7 20| /,2/8 +2 =
21| 43 X 44 21| 5,429 + &/ =
2| 82 X 24 2| 3,/20 + 40 =
23| 26 X 38 23| 9852 + 28 =
2| 93 x 9/ | 952+ /7 =
25| 48 X 48 5| 4/2+ 8/ =
26| 7/ X &4 26| 2,46/3 + 39 =
21| 59 X 79 21| /,679 + 73 =
28| 40 X &7 28| /8085 + 95 =
29| /& X 20 29| 3,780 + &4 =
30| 37 X /3 30| 5,580 + 62 =




e NEEA N

I—%-¢

22158 Abacus Circuit F2

=1
=

=1
=

=1
R

B,

160RBULETLRILTY S

("o")

9 0ORUTTEIT (M3) (T-T)
H H K%
[(BASA1E2S =]

EHQ% [251EA1E1 A =] =
No. 1 2 3 4 5 6 7 8 9 10
1 /& 70 S0 &L S/ %4 S0 &5 /7 Sé
2 S0 &S 58 73 &0 73 7Y 76 60 70
3 §g/ L7 Sé -60 77 L& 4/ -4/ L& -5&
i
No. 11 12 13 14 15 16 17 18 19 20
1 /7 /0 78 /6 LY 78 /& &6 L0 /7
2 §$45 75 52 58 /& L/ 49 -70 63 &7
3 % -4 40 704 77 &4 75 75 /7 -34
4 N &6 /6 L7 63 73 63 A SY L4
5 &0 -92 4 -0 50 -50 L0 L3 78 $0
B
No. 21 22 23 24 25 26 27 28 29 30
1 %4 37 S& ) S0 78 50 &/ 49 63
2 §$0o &L 50 44 /& -&67 &S 70 &S 76
3 LS —40 49 LY 7Y 45 L7 58 6/ /&
4 Y Lé &S -/3 5L 70 7L -9% /6 74
5 5/ -59 /6 7/ &S -3 /4 Sé 50 52
6 &0 7/ 50 68 4§/ -/0 6/ 4y 7L -&5
7 75 -/ & L7 -0 76 S¥ 49 -30 S& -70
B




HIEMT s—&oL
"8 Abacus Circuit FZ
x (bATA1E2R =] —_— {&A$A1E2,¢“ =]
(221EA1E1 A A = " [2BEATEIE <))
1] 94 x Q2= 1| S48+ & =
2 38 x & = 2| 58/ =7 =
3 /6% &= 3| /92 + 8 =
4 72 x 2= 4| /38 +3 =
583 x & = 5 40 2 =
6 57 X9 = 6 4/2+ 9 =
727 X2 = 1\ /7/ 3=
8 | 49 x 3 = 8 | S22+ 4=
9 4/ X 4 = 9| /5 +9 =
10 50 x 7 = 10 398 + & =
1| /38 X 4 1| /422 + & =
121 9/6 X3 12 4,/3/ 9 =
13 794 x 2 13 /,/20 2 =
14| 572 x 7 14 7,/44 & =
15| 207 X 4 15| S04 + 4 =
16| 683 X & 16| /,564 2 =
17 44/ x 9 17 /,044 3 =
18| 350 X 4 18] 4,028 + 7 =
19 §05 X & 19 2/0+ 2=
20 | 249 X & 20| 3,358 + & =
21| 76 X 27 2 93/ = /9 =
2| 94 X &3 2| 2,024 + 42 =
23| &7 X 49 23| 2,328 + 4 =
2| 45 X &7 2| 2,850 + 75 =
25| 54 % 38 25| 2,322 + &6 =
26| 2/ X /& 26| /403 + 23 =
21| /0 x &/ 21| 4,000 + &0 =
28| 22 X 0 8| §,05/ + 97 =
29| 43 X 94 29| 2L9/4 + 3/ =
30| 98 X 72 30| §48 + 53 =




e NEEA N

I—%-¢

216[E] Abacus Circuit F2

=1
=

=1
=

=1
R

B,

160RBULETLRILTY S

("o")

9 0ORUTTEIT (M3) (T-T)
H H K%
[(BASA1E2S =]

EHQ% [251EA1E1 A =] =
No. 1 2 3 4 5 6 7 8 9 10
1 /L 75 &0 /0 7L 50 &0 39 76 40
2 &7 -3/ LY &7 58 &S /7 -3y S L&
3 70 L0 /S 45 704 S/ L& 73 ) A
i
No. 11 12 13 14 15 16 17 18 19 20
1 45 48 7L Lé ) 7L 78 S/ SY A
2 /& 3L 7Y -/ 5 77 &/ XA A 60 -5/
3 785 -7/ /& %4 648 57 S -70 &S 7L
4 S0 57 34 78 L0 —40 50 -6 /7 70
5 7L -60 &0 —40 /6 463 7/ 57 L7 463
B
No. 21 22 23 24 25 26 27 28 29 30
1 57 42 57 75 48 70 59 EL /7 L0
2 35 &4 2é -60 60 58 648 37 &0 75
3 /S &4 7/ &4 &L % 7/ -4 /A &0
4 LY &0 &L -37 40 —477 60 -60 &6 &4
5 7/ 75 $0 -/7 Lé Sé 73 73 77 &6
6 L0 -0 37 5/ /5 VA $0o 57 42 -97
7 44 -/ 648 73 37 /Y /5 -7/ L0 -/9
B




HIEMT s—&oL
"™ Abacus Circuit F2
x (bATA1E2R =] —_— {&A$A1E2,¢“ =]
(221EA1E1 A A = " [2BEATEIE <))
1] 885 x9 = 1] 5852+ 68 =
2 468 X & = 2 4 2=
3 /3 x 2= 3 855+ 9 =
4| 44 x ¢ = 4| 306 + &6 =
587 x 7 = 5 /468 +2 =
6 20 X 2 = 6 /95 + & =
79/ x3 = 1| 434+ 7 =
8 | Q4 x & = 8| //2+ 4=
9 79 X 2= 9| Q00 + & =
10 386 X & = 10 2/9 3=
1] 8§29 X & 1| 438 3 =
12| 263 X 2 12| 7046 + 2 =
13| 488 % & 13| 2,020 « 4 =
14 /52 %9 14] 5,46/6 + & =
15 250 X & 15 6/0 2 =
16| 94 X 3 16| 6,2/9 9 =
17 7/8 % & 17 /799 =7 =
18| 40/ X & 18] 758 ~ 2L =
19| 274 x 7 19| 5,544 « & =
20| 607 X 4 20| 4,065 + & =
20| 48 X 27 2| 3,7/2 + &4
2| 7/ X 94 2| 4,964 + &6
23| 42 X 49 28| /875 + 7%
2| 26 X &7 | /368 + /9
25| 37 X 72 25| /974 + 42
26| 40 X 38 26| 750 + 28 =
21| 93 X &3 21| 2,880 + §0
28| &2 X 50 28| 4,693 + 97
29| 59 % /& 29| 434 + 3/ =
30| /5 X &/ 30| 4876 + 53
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17[a] Abacus Circuit F2
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BEH,

160RBULETLRILTY S

("o")

9 0ORUTTEIT (M3) (T-T)
H H K%
[(BASA1E2S =]

EHQ% [251EA1E1 A =] =
No. 1 2 3 4 5 6 7 8 9 10
1 S& &6 S0 70 63 &/ 4/ 73 &S 44
2 /& -0 &8 -7 &8 S0 70 L& §Y7 -0
3 &/ 75 L7 52 S0 -5& 52 -5/ 50 7/
i
No. 11 12 13 14 15 16 17 18 19 20
1 /7 S0 7L 76 6/ 70 /0 &S 78 S0
2 &0 68 60 7Y 78 44 57 SY 34 &7
3 53 7Y &S -/ 5 50 L7 L7 =79 LY LY
4 A -/ 7 /7 L& L7 -3/ &S 60 60 -59
5 Y VA) 45 S0 453 58 XA -2/ 7/ &/
B
No. 21 22 23 24 25 26 27 28 29 30
1 7L &7 &S 68 L7 7/ 40 68 50 7Y
2 58 /L 50 /S 4§/ —4 4 73 LY /6 50
3 S0 -4 5 7L -34 7Y L0 /7 7/ &S -/ 6
4 ) &7 47 &0 76 79 4 /S 7Y 50
5 /Y -54 S& -57 5L -57 75 L0 L7 &3
6 &/ -3 50 LY &8 /S 60 -57 6/ -3&
7 69 78 /6 -44 63 LY 5/ -34 7L -7
i




"8 Abacus Circuit FZ2

x (bATA1E2R =] _ [(BATA1E2R =]
(22FA1E1A A = " [z2EATETA A
1| 74 x & = 1| 744 + & =
2| 30 x 4 = 2| /085 + & =
3|82 %X 3= 3| 783+ 9 =
4| 74 x & = 4| 324 + & =
5|29 X 4 = 5| /852 + 2 =
6 96 %X 9 = 6 | Q24 + 7 =
1|43 x4 = 1| /72 + 4 =
8| &5 X & = 8 | 294 + 3 =
9| /& X Q= 9 | 328 + & =
10 4/ x 7 = 10| 40 ~ 4 =
1| 728 x 3 "| /946 7 =
120 6/7 X & 12| /,603 3 =
13| 272 x 7 18] 85,670 « & =
14 506 x 9 14| 2,430 ~ 7 =
15| 940 x 6 15| 4,/70 & =
16| 495 X 7 16 | 448 ~ 4 =
17 50/ X 4 17| /,336 ~ & =
18| 384 X & 18] 2,60/ + 9 =
19 £39 X & 19| /446 +~ 2 =
20| /62 X 2 20| 3,036 + 6 =
21| 39 X 28 21| 2268 + 28
2| 73 x 83 2| 4,555 + 95
23| 48 x /9 23| /764 + 49
2| 28 X 42 | /989 + &/
25| 95 X 3/ 25| £468 + 62 =
26| 40 X 97 26| 4,872 + &4
21| 84 X 78 21| /564 + /7
28| 5/ X 4 28| /,833 + 39
29| 42 X &0 29 | 4,200 + 460
30| /7 X & 30| /,825 + 73
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2188l Abacus Circuit F2
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9 0ORUTTEIT (M3) (T-T)
H H K%
[(BASA1E2S =]

EHQ% [251EA1E1 A =] =
No. 1 2 3 4 5 6 7 8 9 10
1 &0 53 5/ $0 S0 40 4y &0 75 &L
2 53 &4 4 L3 4/ &L 7L 53 S/ -/ &
3 /7 -0 A /L 63 -7/ 58 -&4 L0 &0
i
No. 11 12 13 14 15 16 17 18 19 20
1 &6 37 4/ 40 60 78 76 7/ 78 /S
2 727 7Y 54 -/ 6 453 ) L0 6L §Y7 75
3 Y2 VA 78 S& 5/ -44 37 &0 L0 XA
4 53 -/& 37 L5 &7 /S /& -37 54 -20
5 /0 &0 L0 77 L7 -70 SY 45 VAN L5
B
No. 21 22 23 24 25 26 27 28 29 30
1 /& /7 52 £ 70 /0 58 57 73 &5
2 §g/ &0 63 40 76 45 70 7/ 7/ 74
3 S0 L& L7 -3y &S5 &7 /Y -/ 4 &0 4§/
4 52 A S0 5/ 63 -54 S0 37 59 52
5 L7 -25 /& A S0 -4 &/ -4 648 /&
6 70 4§40 &8 -/7 4/ &7 ) 73 2é 463
7 63 -3y 76 73 7Y -20 7L L4 &L -0
B






